[image: image14.png](a) Complete the table below.

Option 1 [ factoring facility with recourse lI 3000000
Option 2 [2n invoice discounting facility without recourse lI 944000

(b) Is the following statement true or false?

Creditinsurance normally only provides for the amount outstanding exclusive of VAT.

True

False

(c) Whatis insolvency?

When a company pays its debts late.

Being unable to pay debs as they fall due.

When a company is only able to pay some of its debs as they fall due.

When a credit controller needs to be appointed.





CBT Sample assessment model answers

Credit Control (CRDC)

Sample assessment 2

Task 1 (20 marks)
[image: image2.png](a) How much should BCG invoice HLPM in April 20X1?

'BCG should charge HLPH £5,200in April.

'BCG should charge HLPHM £6,000 in April.

'BCG should charge HLPHM £6,500 in April.

'BCG should charge HLPHM £7,500 in April.

(b) Drag and drop the correct features of consideration in contract law into the table below.
‘The order in which you place your selection is not important.

“The consideration must not be past

The consideration must be suficient

The consideration can be anything of value

The consideration must be at marketvalue

“The consideration must be of some value

The consideration must be a monetary amount

“The consideration can be past or future.

The consideration must be adequate.





Task 1 (continued)

[image: image3.png](c) Which one of the following is correct?

An offer must always be preceded by an invitation to reat.

An acceptance must always come before an offer can be made.

An invitation to treat must aways follow an offe.

An offer must always be made before an acceptance.

An invitation to reat must always come after the acceptance.

A customer owes £6,000 including VAT andthe debtis 120 days late. An interest charge of £177.53 has been

charged to the customer in accordance with the Late Payment of Commercial Debis (Interest) Act The
customer has contacted you to ask howthe charge has been calculated.

(d) Which one of the following is the correct calculation ifthe Bank of England base rate is 1%2

The calculation is the VAT inclusive amount multplied by the base rate plus 8% for 120 days.

The calculation is the VAT exclusive amount multplied by the base rate plus 8% for 120 days.

The calculation is the VAT inclusive amount multplied by the base rate for 120 days

The calculation is the VAT exclusive amount multplied by the base rate for 120 days.





Task 1 (continued)

[image: image4.png](e) Is this statement true or false?

True

False

() Drag and drop the correct features of the Sale of Goods Act into the table below.
‘The order in which you place your selection is not important.

All goods must be sold at market value

‘All goods must be it for purpose

All goods must be of best quality

Covers goods of anyvalue.

All goods must be as described

‘All goods must be of satisfactory quality





Task 1 (continued)

[image: image5.png]‘The Data Protection Act states that anyone who processes personal information must comply with eight principles.

(@) Which TWO of the following are principles under the Data Protection Act?

Personal data shall be accurate and, where necessary, kept up-to-date.

Personal data processed for any purpose or purposes shall not be keptfor longer than 12 months, or
24 months if given approval by the secretary of state.

Personal data shall be appropriate, reliable and economic n relation to the purpose or purposes for
‘which they are processed.

Personal data shall not be transferred to a country or teritory outside the European Economic Area.
unless that country or territory ensures an adequate level of protection for the rights and freedoms of
data subjects in relation to the processing of personal data.

Gary orders some metal which is advertised as being 24 carat gold. When he recsives the goods and
analyses the content he discovers that the metalis 22 carat gold.

(h) Gary has a claim for breach of contract due fo...

“The Unfair Contract Terms Act

Misrepresentation

Misuse of Sales Act

Fiduciary misconduct





Task 2 (20 marks)
[image: image1.jpg]aat





Task 2 (continued)

[image: image6.png](d) Whatis liquidation?

Liquidation is a legal process in which a liquidator is appointed to ‘wind up’ the affairs of
limited company.

Liquidation is a commercial process in which a director is appointed to liquidate the company.

Liquidation is a civil process in which a recever is appointed to restructure the company.

Liquidation is a legal process to pursue the directors for wrongful rading.

(€) Legal action can be taken against a customer for non-payment of an invoice when...

There is a coniract in existence and the non-payment s a breach of contract

‘There is no contractin existence butthe paymentis stil due.

There is a coniract in existence and the non-payment s a misrepresentation

There is a contractin existence and the non-payment s a remedy.





Task 2 (continued)

[image: image7.png](f) Complete the table below by indentifying whether each statement is true or false.

Receivership usually refers to the insolvency of a company where an administrative receiver has been appointed

hisiher functions with the objective of rescuing the company wherever possible.

to.a company. A finance company, ike a bank who is owed money, usually appoints the administrative receiver, [True
‘and the receiver's job is to find the bestway for the bankto get its money back.

Administration is managed by an administrator, who is an authorised insolvency praciitioner appointed to

manage the affairs, business and property of a company. Helshe will be an officer of the court and must perform [rrue

Adminisration usually refers to the insolvency of a company where an administrative receiver has been appointed
toa company. Afinance company, like a bank who is owed money, usually appoints the administrator,
andthe administrator's job is to find the bestway for the bankto get ts money back.

[Faise

Receivership is managed by an administrator, who is an authorised insolvency practiioner appointed to
manage the affirs, business and property of a company. Helshe will be an officer of the court and must perform
hisiher functions with the objective of rescuing the company wherever possible.

[Faise

i

Administration effectively protects the company from any action by creditors to recover money for a limited period,
e..a creditor cannot petition for the winding up of a company whilst tis in administration

=

ue

Acharge over the assets of the company to secure a debtis required before a liquidator can be appointed.

[Faise

i





Task 2 (continued)

[image: image8.png]‘Currenttumover is £600,000 per month and currently customers pay 60 days after the month end. The.
‘company s introducing a 2% discount for month 3 f customers pay within the current month. It is expected
that 80% of customers will take advantage of the discount The sales revenue per month is shown below:

Hontn 1 £600,000
Month 2 £600,000
Montn 3 £600,000

(g) Complete the following sentence.

Cash receipts in month 3 will be: £ 1070400]

{h) Which TWO of the following are a source of information for determining whether a new customer
‘should be given cred

Bank reference.

Employer reference

Creditrating agency

Trading history





Task 3 (24 marks)

[image: image9.png](a) Complete the table below by calculating the key indicators (to two decimal places) for 20X1 and 20X0
for X Limited, and rate the company using the credit rating scoring system.

20x1 20x0
X Limited
Indicator Indicator
Operating profit margin % 812 - 1239 10
Interest cover 0 30 6.30 10
Current ratio 098 20 128 0

Gearing % 6323 0

10

Total creditrating

20






[image: image10.png](b) Based on the results of your credit rating and using the table above, recommend whether the
requested credit limit should be given to X Limited.

XLimited [Reject





Task 4 (24 marks)
[image: image11.png](a) Complete the table below by calculating the key indicators (to two decimal places unless stated) for
20X1 and 20X0 for Z Limited.

20x1 20x0
Z Limited
Indicator Indicator
Gross profit margin % e 40
Operating profit margin % 2111 2
Trade payables payment period in days (to the nearest day) 55 67
Inventory holding period in days (o the nearest day) 88 49
Current ratio 4 218





Task 4 (continued)

[image: image12.png]Email

To:  Credit Controller Date:  Today

From: AT Technician Subject:  New CustomerZ
Please find below my observations and recommendation for new customer Z.

Profitability
e revenus has inceaseaty [30] % which means thatnecompany has [Fersod more ans o masssea e s o poau [l

The gross profit margin has increased by [11.11 | %

e company may have [assedie sales pcsof e produe ando reducedne ot ot proaucior [l

The most important indicator fo profiabilyis the [operating profit margin Jlug] which has reduced by [18.80% il

[Tt once e e st s e rreaseasarvanta Rl

Liquidity
e curent akoprods. [sTough s ot sharter savery Tt organsaton [l

Inthiscas thas ncresseanits [T oS e WG s 3SR vy v |

oo mtry oing prod v [rreaser ] [ sppea e g oo v

The trade payables payment period n days has [decreased [l by [12 days.

[Fappears thatihe company is funding its expansion by increasing long term borrowings and retaining prot__ Rl

Irecommendthat [creatt be given. %]





Task 5 (24 marks)
(a)


Overtrading occurs when a company expands too rapidly and has insufficient working capital and insufficient cash available to support the increased level of trading.

Sales revenue

Sales revenue has increased by 80% from 20X1 to 20X2 which is probably due in part to the new salesman. However, such a steep increase could indicate overtrading.

Trade receivables

Trade receivables have also increased in absolute terms by 200%. This is a much greater increase than the increase in sales revenue. This could be a sign of overtrading but could also be due to the company no longer having a credit controller. 
It could also be a sign that the company is extending credit to customers with a higher risk profile in an attempt to increase sales 

Trade receivables holding period in days

Customers are now taking an average of 70 days to settle their debts compared to 42 days in 20X1. This is probably a direct result of the company replacing its credit controller with a salesman. The company has extended its credit period to 60 days for new customers, but on average debts are being collected 10 days later than this. The increase in trade receivables days is a warning sign that the company may be overtrading.

Trade payables

Trade payables have increased by 257% in 20X2 but this is probably due to the increase in cost of sales required to support the additional sales. Considered on its own, this is not a sign of overtrading.

Trade payables payment period in days

Trade payables days have almost doubled from 35 days to 64 days. An increase in trade payables days is a possible warning sign of overtrading when considered together with a rapid increase in sales and an increase in trade receivables days. 64 days is longer than our credit terms of 30 days.

Inventories

The level of inventories held at the end of 20X2 is 253% higher than at the end of 20X1. This supports the idea that inventory has been increased to satisfy the sales levels. This is a possible sign of overtrading if the inventory holding period has also increased.

Inventories holding period in days

Inventory days have increased from 36 days to 65 days. This is about the same increase as for trade payables which suggests that the company is financing its expansion using credit from suppliers. A company that is overtrading would usually have increased levels of inventory accompanied by longer inventory holding period. This increases the possibility of inventory obsolescence.

Gross profit

In absolute terms gross profit has increased by £800,000. This would not support or deny overtrading.

Task 5, continued

Gross profit margin

The gross profit margin has reduced from 30% to 24%. This could be due to a reduction in selling price to encourage an increase in sales volume. A decrease in margins is a warning sign of overtrading but may also be due to other factors.

Operating profit

The operating profit is higher in 20X2 than in 20X1 in absolute terms which is due to the feed through of absolute gross profit.

Operating profit margin

The operating margin has also reduced by 3%. This is a smaller reduction than the decrease in gross profit which suggests that expenses are being more tightly controlled in 20X2. A fall in margins is a warning sign of overtrading.

Interest cover

Interest cover has decreased. This must be linked to a probable increase in finance costs as bank loans and overdrafts have more doubled in the year even though operating profit has increased in absolute terms.
Current ratio

The current ratio has reduced from 2 to 1.78 from 20X1 to 20X2. Current liabilities are covered by current assets.

Quick ratio

There has been a decline in the quick ratio which means that Squeaky would have difficulty in meeting its current liabilities by its current assets without the need to convert inventories to cash.  The current ratio and quick ratio have deteriorated because of the poor management of working capital and the lack of liquid funds.
Other points

The cash position of Squeaky has weakened significantly with no cash in hand in 20X2. This suggests an increased use of a bank overdraft. There has been investment in non-current assets which may explain the increase in bank loans and the reduction in cash in hand however the increase in debt has not been matched by increased investment by the owners.

The sharp increase in sales and the deterioration in working capital position suggest that Squeaky is overtrading and may not have sufficient cash to continue operating at the current level.

Task 5, continued

(b) 

Squeaky have asked for a significant increase in credit limit. It would be unwise to grant the increase because:

· The company appears to be overtrading. 

· The company has increased its borrowing levels and is funding its working capital requirements through extended credit from suppliers. 

· Replacing the credit controller with a salesman suggests that the company is more concerned with increasing sales than with collecting debts from customers. 

· The trade payables days are 64 days and our credit terms are 30 days – it is unlikely we would be paid to terms

· Trade references could be requested from companies already offering higher credit facilities to Squeaky 

· Ascertain whether credit insurance could be obtained over sales invoices to Squeaky. 

· Need to review the trading history of Squeaky with Confirmata Ltd to ascertain whether they usually pay to terms.

· Would probably want to obtain an external credit report since there is no guarantee that the figures provided by Squeaky are genuine.
Task 6 (18 marks)
[image: image13.png]Complete the table below by selecting the correct option from the drop-down list for each customer.

2Limiteq | [T cam il e s Tor £57 5003 provion e o v s o £14 400 VAT rE A0 i v e rom A i)
YLimiea | [T 3coountT no verdus 300 3T s eaed v
XLimited | [Send a copy ofthe delivery note which was signed by X Limited_ %]
Wit |[F7S fces SHoua 5 Ve o oy e o035 3nd rogter s efoion s ol win e Irsohercy practionr v
VLiteq | [7SToulE 5 contated e onf e e 7 e pad 5o uralowted st o B oot v
Uimited | [The unalocated cash needs to be adjusted by debiling the unallocated cash by £60,000 and crediting U's account by £60,000__ il





Task 7 (18 marks)
A 

Need to review the order to establish if A ordered A11, or B11.  If Echo made the mistake then A can insist on redelivery of the correct goods.  Echo may decide to credit note the original invoice for £40 and reissue an invoice at a price of £50.  Alternatively Echo may decide to only charge the £40 per kilogram for A11 as compensation.  If on the other hand the error belonged to A, then Echo does not have to legally collect and redeliver but Echo may decide to redeliver to provide excellent customer service and goodwill.

B Ltd

If Echo allows delivery before the cheque has cleared there is a risk that the cheque will not arrive and B may be attempting to defraud Echo.  Even though B will be within its credit limit B will not be adhering to agreed contractual terms.  B needs to be contacted and told in polite terms that the goods cannot be released until the cheque has cleared.  Also it can be pointed out that payment is 7 days overdue and as B is a new customer they have no trading history.   Another credit controller may decide to ask for the cheque number and the date posted and then allow the credit limit to be exceeded for a few days.  The ROT clause and risk of not being able to enforce the clause and resell also has to be considered. 

C Ltd

Echo needs to consider negotiating with the receiver because the scrap value is only £2 per kilo.  Echo needs to establish its minimum price to supply further goods.  The further supplies are guaranteed to be paid as receiver expenses.  The fact that there are surplus supplies of stock will encourage Echo to do a deal. A credit note may then need to be issued for the goods being transferred to the receivership and a provision may be needed for any amounts owing in excess of these goods. 

W Ltd

The raw materials will probably be covered by a valid ROT clause whereas the materials converted will not.  The CI needs to be contacted and a strategy to deal with the receiver needs to be agreed.  Echo does not want the goods back as they have a low scrap value and it will probably be better to negotiate with the receiver.  The CI may still pay a claim for the losses incurred up to 70% of the value of the goods ex VAT,  a claim for bad debt relief at HMRC needs to be made and a provision for any additional losses may be needed. 

Z Ltd

£25,500 plus £26,400 less £25,500 = £26,400 balance at the 30th September 

£26,400 plus £76,800 less £52,000, less £48,000 (2,000 x £20 x 1.2) plus £4.800 (10% restocking fee) = £8,000 

Indicators





This model answer uses the appropriate negative figure to indicate a negative operating profit margin percentage, and zero to indicate negative interest cover. This reflects industry preference.





However, for the purposes of this assessment, students may enter zero or the appropriate negative figure for both negative operating profit margins and negative interest cover.
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